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We always strive to make our textbooks as accurate as possible, but sadly,
errors are a reality. We very much appreciate friends who report errata that
are not included in this document!
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Physics: Modeling Nature (2021)

Chapter 8 Answers
28.m /m._ = (5 + 2V10)/3
The corrected version of the last part of the solution follows:

$m,v; =2m,gr+5m,v;
v, =4gr+gr=>5gr
v, =5gr
2
2mm,2gr
2 =5gr
m, +mm,
Smmlor = 2 2
m m, gr = 5gr(m2 + mlmz)
8m;m; =5(my +2mm; +mim; ) =5m, +10mm; +5mm;
3mim; =5m; +10mm;
3m; =5m; +10m,m,
3m; —10mm, —5m; =0
Divide by m; to make this a quadratic in m, /m, :
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m m
3l L+ | —10—1-5=0
mZ mZ

m, 102100460 _10++/160 _ 5+24/10

m, 6 6 3
Since m, >m,,
m 5+24/10

m, 3
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